OtpuniatenbHbie IKCIOHEHTHI 10

2x10=
658,5 x 10* =
246,4 + 1009 =
1002 =

1004 =

4% 10% =

7% 10 =

5x10° =
277,5x 1072 =

9x10% =

Jlatra:__ OueHka:
381,4 x 1001 =
492,810 =
2% 1004 =
100D =
1002 =
468, 1 x 1072 =
—1x10° =
—2x10% =
—3x10=

—1x 1072 =
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Lt X4

OtpunaTenbHble KCIOHEHTHI 10

Nwms:

2% 10 =20
658, 5 x 10° = 65850
246, 4+ 10 = 2464000
1072 = 0.01

107 = 0.0001

4 x 10* = 400

7% 10 =70

5x10°=5

277,5 % 1002 =2.775

9 x 10> = 900

Jlara: Orenka:

381,4 x 10°Y =38.14
492, 8 + 107 = 492800
2 x 107 = 0.0002
1079 = 0.1

107 = 0.01

468, 1 x 1072 = 4.681

—1x10° =1
—2x 10> = —200
—3x 10 = 30

~1x107% = -0.01
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